Appendix A, Figure 1

Calculation of Manufacturer X’s target fuel economy standard value.

(Manufacturer’s Light Truck Production for Applicable Model Year) / ((Group 1 Volume
/ Group 1 Target) + ((Group 2a Volume / Group 2a Target) + ... + (Group 11 Volume /
Group 11 Target)) =

6700/ (800/27.30 + 100/27.44 + 100/27.40 + 300/23.79 + 400/23.79 + 400/22.27 +
200/23.79 + 200/23.68 + 500/23.79 + 500/23.68 + 1600/23.76 + 800/22.27 + 800/22.27)

=23.7
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Groupl Group2a Group2b Group3 Group9 Groupl0 Groupll

Volume Volume  Volume  Volume  Volume Volume  Volume

Groupl Group2a Group2b Group3 Group9 Groupl0 Groupll

Target Target Target Target Target  Target Target
6,700

800 100 100 300 400 400 200 = 200 = 500 500 1600 = 800 800
+ + - + + + + + + + + +
2699 27.13 27.08 23.54 23.54 2206 23.54 2345 2354 2345 2352 22.06 22.06

Fleet’s target fuel economy standard = 23.7 mpg



